
gaber.it

M10x90 mm

M8x30 mm

in
st

ru
c

ti
o

n
s 

| 
Se

a
tin

g

SOCIAL-IZE
Assembly Instruction

Watch: 
https://youtu.be/7csOMqvgy10

TOOLS

1.    

2.    

Follow the video instructions for assembly, need tighten screw (M10x90) with washer each leg | 
Seguite il video di assemblaggio, è necessario fissare una vite (M10x90) con rondella per ogni 
gamba

Fix the backrest cuschions to the beam by 3 screws (M8x30).  
Fissare i cuscini schienale alla trave con 3 viti (M8x30).

Allen Wrench
Chiave a brugola

Cle Allen | Llave Allen
Cacciavite | Screwdriver
Tournevis | Destornillador



gaber.it

in
st

ru
c

ti
o

n
s 

| 
Se

a
tin

g

SOCIAL-IZE
Assembly Instruction

3.    Fix the seat with 3 plastic supports, secure them with 2 screws (D6x40) and 4 washers (D8x15). 
Fissare la seduta con 3 supporti plastici, ciascuno dei quali viene fissato tramite 2 viti (D6x40) e 4 
rondelle (D8x15).


